D1vISION WITH A REMAINDER II (H - SET 5)
DIVISION WITH A REMAINDER

Name:

Time:

Score:

501 20887 + (—=9) =
602) 71259 + (=9) =
603 8068 + (—1) =
600 3011 +2 =

05 —15754 =+ (—2) =
606) 4549 + 2 =

607 —18359 + (—2) =
60s) 17137 + (—=7) =
609 9333 + (—3) =
610) 32075 + 7 =

611 1456 + (—9) =
612) 15505 + 3 =

613) —4745 + 5 =

614 4082 + (—4) =

615 2831 + 7 =

Mathematics: Division - Level 8 - Horizontal - Set 5
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14064 <+ (—5) =

43260 = (—6) =

—6981 = 2 =
19850 = 3 =

—9102 + (—3) =
18614 = (—2) =

—50545 + 8 =

—30268 + 5 =

—5226 + (—2) =

20817 + 10 =

—16866 + 2 =

20093 = (—5) =

—236067 + 3 =

3697 = (—1)

46654 + 5 =
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